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£ 1 RIS 320 300 8,350 ]
EPETH 420 600 7,950 )
5 3ERMRE-1 820 1,000 7,150 ]
ENEE1 5,960 180 130 520 170 100 = IERE-2 820 1.300 5,850 ).
HAHE 6,354 3.
2E| & 38 1,171 1,445 5,648 4.
RETI=EE] 4,942 4
% 1EREE 320 300 9,052 1.
EVETS 420 600 8,652 1.
) £ SERE 820 1,000 7,852 2
Erig2 6,650 180 130 580 190 110 EIERME-2 820 1,300 7,552 2.9
HEAHE 7,056 3.4
PETR=EE] 1,171 1,445 6,272 4.1
RETE=EE] 5,488 49
£ 1 RIS 320 300 9,781 1.4
EXET 420 600 9,381 1.8
) %35&[5%—1 820 1,000 8,581 26
ENiE3 7,370 180 130 640 210 120 EXET 820 1,300 8,281 2.9
EAHE 7,785 3.481
PET=E ] 1,171 1,445 6,920 4.346
3ill§ 1H 6,055 2111
F1EE 320 300 10,474 1.562
EPET 420 600 10,074 1.962
i FEIEE-1 820 1,000 9,274 2762
Ef#E 8,060 180 130 690 230 130 % SERHE-2 820 1,300 8,974 3.062
HEHE 8,478 3.558
221848 1,171 1,445 7,536 4,500
RETRZEE 6,594 54492
TR 320 300 11,158 1638
FE2ERME 420 600 10,758 2.
. %352[5%“ 820 1,000 9,958 )
EAriE5 8,740 180 130 750 240 140 FEIEME-2 820 1,300 9,658
HEAHE 9,162
2E| & 38 1,171 1,445 8,144
RETRE ] 7,126
ERET 320 300 6,703
E2ERRE 420 600 6,303
B B IERME-1 820 1,000 5,503
EXE1 4,460 180 0 390 130 70 FEIERME-2 820 1,300 5,203
HEHE 4,707
2FI848 1171 1,445 4,184
REREE] 3,661
ERETE 320 300 7,801
FE2ER M 420 600 7,401
B FEIERME1 820 1,000 6,601
EXig2 5,550 180 0 480 150 90 ERE) 820 1.300 6.301
EAXHE 5,805
PETR=E 117 1,445 5,160
RETI=Ei] 4515
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£ 1 RIS 0 300 8,354 1.006
E 255 R 370 600 7,684 1676
5 3ERMRE-1 370 1,000 7,284 2076
ENEE1 5,960 180 130 520 170 100 = IERE-2 370 1,300 6,984 2376
HAHE 6,354 3.006
2Z1&48 855 1,445 5,648 3.71
RETI=EE] 4,942 44
ERET 0 300 9,056 1.084
EP 370 600 8,386 1.754
£ SERE 370 1,000 7,986 2 154
Erig2 6,650 180 130 580 190 110 FEIERFE-2 370 1,300 7,686 2 45
HEAHE 7,056 3.084
221848 855 1,445 6,272 3.868
REE 5488 4652]
% 1EREE 0 300 9,785 1.165
FE2ERME 370 600 9,115 1.835
%35&[5%—1 370 1,000 8,715 2235
EA3ES3 7,370 180 130 640 210 120 FIERHE-2 370 1,300 8415 2535
EAHE 7,785 3.165
PET=E ] 855 1,445 6,920 4.030
3ill§ jH 6,055 4 895
5 1ERRE 0 300 10,478 1.242
EVET 370 600 9,808 1912
EXETE 370 1,000 9,408 2312
= Ef#E 8,060 180 130 690 230 130 % SERHE-2 370 1,300 9,108 2612
HEHE 8,478 3.242
2215148 855 1,445 7,536 4,184
RETRZEE 6,594 26
ERETS 0 300 11,162 1318
EXI 370 600 10,492 1.98
%3&[@? 370 1,000 10,092 2388
EAriE5 8,740 180 130 750 240 140 FEIEME-2 370 1,300 9,792 268
HEAHE 9,162 3.31
2E| & 38 855 1,445 8,144 4.336
3E|EE 7,126 535
ERET 0 300 6,707 823
EP 370 600 6,037 1.493
B IERME-1 370 1,000 5,637 1.893
BEXE1 4,460 180 0 390 130 70 FEIERRE-2 370 1,300 5,337 2193
HEHE 4,707 2.823
2Z1548 855 1,445 4,184 3.346
REREE] 3,661 3
ERETE 0 300 7,805 04
FE2ER M 370 600 7,135 1.6
ERI 370 1,000 6,735 2.01
EXiE2 5,550 180 0 480 150 90 EIERME-2 370 1,300 6,435 2.31
EEXHE 5,805 2.94
PER=E] 855 1,445 5,160 3.59
RETI=Ei] 4515 23




